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gray T o aRTel foedd & ¥ Hiaar fufa 3iai@ e vg afgaiwma area & @@ 2ufy &
Which one of the following gives the correct position of inlet & exhaust valves during the power
stroke?

a. IdIFS aled gell d FEHTHA dled §¢ Inlet valve opens and exhaust valve closes
b. 3idH died ¢ g SE9H dled gell Exhaust valve opens and inlet valve closes
c. Gl died &€ Both valves remain in closed position
d. &l areq E.IJT'-‘F Both valves remain in open position

g Toh 4-F21 50 Tk fAee 7 1000 ol & 8, aF 9fd fAse 9aX & fhdar
gIa?

If a 4-stroke engine makes 1000 revolutions per minute, the number of power strokes per minute will
be

a. 250
b. 500
c. 750
d. 1000

U FfoeT @ [Foraid aregs 100cm’ TAT T dTegH 800cm® 8, o HUise 3fqard
gram?

An engine has a clearance volume of 100cm®and a swept volume of 800 cm”’ the compression ratio is

a. 10:1
b. 91
c. 81
d. 7:1

FSAT 39T Toae 8ol & 3taeR & & STAT §, FIT hgolldl 87
The heat engine in which cylinders are arranged vertically is called as
a. &ifast i3 Horizontal engine
. 3MEs 33 Opposed engine
IZaer 3fSa Radial engine

ZAASA 3fSTeT Inline engine

o oo

forees arfafafer & detr & ared &1 Golell T dc gl FAT FEalal 872
The opening and closing of the valves in relation to the piston movement is called
a. dled E'I?ﬁfl?T Valve Timing
b. dled 9dlelel Valve Operation
c. dled TATdAT Valve Mechanism
d. dred 3aled Valve Overlap

FeTHA 3T T AT FT U areT SIS T ITIT FAT FgelTal &7
The engine component, which reduces noise of exhaust gases is

a. o qrsy Tail pipe

b. 37HT HAPIES Inlet manifold

c. HFelX Muffler

d. SEEHE 9isq Exhaust pipe
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7. dA¢ & A fhEd e & cgaa U S 872
The dimension of the nut is expressed in term of
a. sree 1 ¥ Head of the bolt
b. see &7 ATH 1@ Nominal diameter of the bolt
c. dlee &I &I =" Core diameter of the bolt
d. stec & [ =arg Pitch diameter of the bolt

8. UH <ol A UH TF IS EaNT &M T A I 9 g5 gl P A P &7

The distance through which a screw thread advances axially in one turn is called
a. U3 & T Pitch of thread

b. UZ &S Lead of thread
c. U3 &I ?I?Tlé' Depth of thread
d. U FHIEATT Diameter of thread

9. U HIX & Teh & gl W G § €eholed AT IHFT & Wiaa O dof &7 FAT GHTG gem?

The effect of force, F, on a car when you push from back or pull from front at points on a same line
(see figure)

PUSH PULL
F E

FATA G is same

Thelel hl 3798 WiTaT & TG Pullis smaller than Push
Tiaer T 39T Yhelell e I8 Push is smaller than Pull
d. 39cArAd Unpredictable

o o

[g]

10. A FAT %‘7 A governoris a

dMIATT HAGT 30T Temperature sensitive device
T Tdel 3UHIUT Pressure sensitive device

7T TAET IYEOT Speed sensitive  device

faTd AT 39IUT Vacuum sensitive device

11. $ e WY fFY i FaTRa FLdr 8?7 The crankshafts transmit torque directly to
a. Wolrdcglel Flywheel
b. WYX TS Propeller shaft
c. Us @FI’ Road wheels
d. RBwITer Differential

o 0o T w

12, 34T & §¢ U I W Al AT & SUA HT g RAG FIAT FHgelldl g7
Slow seeping of fuel oil from the nozzle tip after cut off of the fuel is called
a. f3afefar Dribbling
b. #UsT Seepage
c. 9IREr Pouring
d. Faraer Clogging
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13. 3RSl U THieole g1 & TEY TT T §7
The correct colours for oxygen and acetylene hoses are

a. ST F T T 7 vdlica s & T a7 Red for Oxygen and blue for acetylene

b. 3T & T FIel T THICT & foIT ool Black for Oxygen and red for acetylene

. ST & TIT el I THicT & fow H&a Black for Oxygen and maroon for acetylene
. HFEST & AU ool 7 vdieels & T 76T Red for Oxygen and maroon for acetylene

14. ToT e & AT 39 Y aTel FSHT Sefooret SIRRAHT 1 3ofshat T 32
The sequence of Heat Treatment processes followed for cutting tools is

a. m—m—m—m Normalizing-hardening-forging-Tempering
b. W—W‘Wﬁ-m Forging- Normalizing- hardening- Tempering
c. m—ﬂmﬂﬁﬁﬂ—m—w Hardening- Normalizing- Tempering- Forging
d. qﬁﬁmmﬁmﬁnﬁqﬁwmﬁﬁ Forging- Normalizing — Tempering- hardening

15. A3 T ATS¢rssa gy ar ugfaer &2
“Cyaniding” & “Nitriding” are two methods of

a. @IS Hardening

b. FH B'Iéﬁ?T Case Hardening
SFaar Tempering

d. a_-lTﬁFl'lgﬁI?T Normalising

16. = & & laaT g Hﬁ' ﬂﬁ'f %"7 Which of the following symbols are not correct

a.

Q 0

24

]  DOUBLEACTING CYLINDER

b.

@: ELECTRIC MOTOR
c. A HYDRAULIC
d. o= PLUNGER

17. AT T HT HARF 07 | 38 I5 fraer 9faer aar §7

Viscosity is an internal property of a fluid. It is a measure of its resistance to

a. < Current
b. ShIRT Light
c egfer Sound
d Ydlg Flow

18. IR &7 AT 39T €? What is the use of a reamer

&g 3o & Drilla hole

ﬁafam?-r g FI 95 FET Thread an existing hole
faegaAreT e # TReFA FET Finish an existing hole
&g # acoar Change a hole

o 0 T W
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19. %EI'IBET T 3UATT FAT gIaT &2 The dividers are used for
a. ded RAfEaa st & AT Scribing circles
b. =g REAT #T & TIT Scribing arcs
(3 ngT T TATHATAIOT TF AT Transferring & stepping of distances
d. ﬂ'ﬁ’:‘l}lﬂ FHT All the above

20. ¢ ged I & U FRE gor 1 39T AT ST £7

The tools which is used for laying out large circles is

a. ¢Ho Trammel

b. f3a1gsT Divider

c. Seil iU Jenny calliper
d. TRET Scriber

21. efawe 3e & qof &fdr w #Alee 7@ @1 F=a Fed &7

The grooves provided on the entire length of the body of a twist drill are called

a. fow Lips

b. WelcH Flutes
c. AT Margins
d. dsd Webs

22. fFE # ZsaX vd Baw geir faudia feem & gAd &7
Driver & Driven pulleys move in opposite directions in

a. 3N9a de¢ 313d Open belt drive
b. @I Sec 313d Cross belt drive
c. drex efa¥c 318d Quarter twist drive
d. 37 # ¥ FIS 76 None of the above

23. U7 &7 39T fFEfow giar 82 Bearings are used for

a. YT feufg & emwe &1 qehsaT U9 HERT el
Support & hold the shaft in a fixed position

b. HFd T4 T ATFE FT Tolel ol Allow the shaft to run freely
c. & TRAT T FFATH AT Minimize the rubbing action
d. 3CI'€13-_¢T FHT All the above

24. HTSHAIETS T TRR & gUlel &I 38T FT §7?

The purpose of tyre rotation on automobiles is to
a. TATT YUFhe H UG Avoid ply separation

b. ﬁ'&ﬂé HH Il Equalize wear
. 9%aR TAWY ST Get better ride
. TS FF FT Reduce wear

o O
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25, 3% YUTell ¥ grsgifae e v s eanr yfaaried grar &7
The law which governs the hydraulic pressure in brake system is

a. TTed f3TH Charles’s law
b. sr¥er fA7# Boyles’s law

c. Uhel f¥H Pascal’s law
d. =gea [@aH Newton's law

26. ARCH MW & Fiewehe AR & & drg HiT gfr Fa1 Fgarrdr &2
The distance between adjacent meshing teeth of mating gears is called

a. TFerTIA Clearance
b. o= oIS« Pitch line
c. S%elel Backlash

d. Tele Flank

27. 9 Udh T8 Pl Fl TA T §, OF SHIRATS HI fHam a7 Fadr &2
When the vehicle turns a corner, the action of the differential causes

a. 3G&aAT SEleT T 31T &l & Inner wheels to speed up
b. ST grer & 1l orar & Outer wheels to speed up
c. 3CEAT SErel W dar g3 <l o191 §

Anincrease in torque applied to the inner wheels
d. STgdl eIl W T g T T §

Anincrease in torque applied to the outer wheels

28. QMeh HedlaN &I 3T ATH FIAT &7
Another name for shock absorber is

a. SFI Damper
b. €I?TT S Torsion bar
c. TeUar Spring

d. HeFd JEULTA Independent suspension

29. U STo1d & OTel &7 Tl Walg 92 &7 g7
Which one of the following gives the correct flow path of petrol in an engine?
a. Hh-Mhecy-g9-aRel-fAest Tank-Filter-Pump-Carburettor-Cylinder
b. FH-ug-Theel-raRel-faesT Tank- Pum p- Filter-Carburettor-Cylinder
c. Thee-¢h-aq-Haed-fAesT Filter- Tank-Pump-Carburettor-Cylinder
d. 99-fheey-dh-draRel-T{eist Pump-filter-tank- Carburettor-Cylinder

30. FRT H 3646”5‘3 T 9T F47 8T 8?7 The colour of the tail lights in a caris

a. THE White
b. ©Tel Red
c. Bl Green
d. el Yellow

TB7-A| 5



31. IISUT soig AfCT vy 8 & a1 gld 8?2 The wiper blade mating faces are made of

a. hYsl Fabric
b. WIS&{ Fibre
c. dTHSI Leather
d. T&Y Rubber

32. ATARA SoTel H A ddl & 3T F P AA WA F U & v e &7
 HleTeTdT T gerdr g2

Which one of the following removes any traces of moisture present in the air-conditioning system to
avoid freezing of moisture at low temperature?

a. Huf@T Condenser

b. f3833¢T Dehydrator

c. dIfsYF  Evaporator

d. fFdRUT ared  Expansion valve

33. 2[4 FIT & 39U @l 8IdT &7 Dog clutches are used in
a. AW SiFF  Gear boxes
b. TheFQIeT &Fold  Friction clutches
c. §% Brakes
d. FBwifdge Differentials

34, TR # & # & 58 YHR & Ford 1 3UAET grar g7

Which one of the following types of clutches is used in two wheelers?
a. @l FIT  Cone clutch

b. 3SAWIA Fofd Diaphragm clutch
¢ a‘gr-céa Fold  Multi-plate clutch
d. ST Foag Dog clutch

35. 60 Psi ST fHaalT kg/cm’8BIdT 82  The equivalent conversion of 60 Psi to kg/cm’ is

a. 4.2kg/cm®
b. 3.0 kg/cm’
c. 8.0kg/cm’
d. 2.4 kg/(:m2

36. AT ar& & &g F1 Fay FEA AT J1ar g7
Clearance between the mating parts are measured by
a. S A Dial gauge
b. I IS “GO” gauge
c. PR AT Feeler gauge
d. &Y ST Calliper gauge

37. A1 fFEd a4 gl &7 Gauges are made of

a. @rc 3B Cast iron
b. &Fe T Cast Steel

TB7-A| 6



c. 37T T Alloy steel
d. #AEes &Il Mild steel

............ is determined while measuring a component

a. #THd 3R Nominal size
b. arEdfd® 3R Actual size
c. Tafse 3R Specified size
d. YA IR Scale size

39, (75)* - (65)° &1 &7 FaT & / What is the value of (75)> - (65)°
(a) 1400 (b) 1200 (c) 1350 (d) 1450

40. BHP &T TTHTT AT fhaalT 81aT §? With usual notation of symbols BHP equals

a. mNT/4500
b. 2nNT/4500
c. 2mN/4500T
d. 2nT/4500

41, TR U & NI T TR TREehT T o §7?

The Stepney tyre replaces.......... tyre during tyre rotation.

dTey a7 Rear left
T3 &7 Front left
IS ST Rear Right
. 3T &7 Front Right

a 0o T W

42. eAT $r ShIg FAT £7 The unit of capacitance is

a. 3flEA Ohm

b. J%T mho

c. T@#AH siemens
d. BUs Farad

43, UTRHCT & g9ROT A ... # ST AT &1 Ammeter is connected with the circuits in
a. SIL'EIFIT Series
b. HATAY Parallel
C ’{@FIT Ir FATA Series or parallel
d. HGell d HHIAT Series & parallel

44, I3-31F Jel & FATT sAFCIAST ITAT AT 7T 87
The electrolyte used in a lead-acid battery is
a. @GR 3 Ud defohd A5 Sulphuric acid and diluted lead
e &3 Td Yg Sl diluted lead and pure water
Yg STl T YA STl Pure water & distilled water
YA ST Ud Hepies 3% Distilled water & sulphuric acid

ooo
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45

46

47

48.

49.

50.

51.

. SR vd AT hecd H $O 3R[NE STef T Gfshar I a1 Fed 872
The process of introducing some types of impurity in germanium and silicon crystals is called
s1qef Dopple
b. 39T Doping
c. sf&9ar Dumping
d. 39<T Dosage

W

_aY T eTaras uerd Hlad §?  The two popular semiconductor materials are
. AfermeT g 339 Gallium and indium

. IAAIA g TfeAAT Aluminium and antimony

. IHATH g AT Germanium and silicon

. 3 ¥fA% g SR Arsenic and Boron

O 0O T o

: gﬂaﬁg FIET FT UF ThRT F7 %’7 One of the functions of electrode coating is

dTesdT e &l Ml Toincrease welding current
AT FT FEAT HLAT To stabilize the arc

9T § §9=T To prevent rusting

g dfesdar & AT AT To control arc welding

a.
b.
c.
d.

e & FINUT caX0T fohdT B8IaT 87 Acceleration due to gravity ‘g’ equals to
9.91 m/s’
9.81 m/s’
8.91 m/s’

3T H & EFT%’ el None of the above

Q O o o

arganfora SoTell #, Hdew fhEsh 39T N gfd FIAT &7
In a pneumatic system, a sensor serves the purpose of

a. TIRUT Transmission

b. f@a=uT Control

c. Frsds Feedback

d. ¥SRUT Storage

F=ma, SgT F=TTa g3 e, m=3ef ey EU 9eTd &7 GO FUT a=daE] F ROT 7l Te
=gcel &l Hlear GuH 87
F=ma, where F is the force applied, m is the mass of the object receiving the force, and a is the
acceleration of the object. This is as per Newton’s
a. YUH [AIH First law
. ai%rm‘cr THTH Second law
?!_T-ﬂ'éT T Third law

: ﬁ':—‘.' a‘-l?f None

o o o

I 2o & T3t F o ¥ Sl erserad TE A6 &
Which of the following nomenclature is not correct w.r.t IC Engine

a. TDC <9 38 HeX Top Dead Center

b. BDC - dfcH 38 #c  Bottom Dead Center

TB7-A| 8



€ c.v-ﬁ-?rqiwa‘mqa Clearance Volume
d. S.V-dleldagsared Solenoid Valve

52. 3T 0 &, Rieizy oMY fFEd @ &A1 £2  InIC Engine cylinder head is made of
a. hIEC I Cast iron
b. UIdel Brass
c. SPITAIH Chromium
d. ¥ Steel

53. fopel @Teet &1 AZers 10 KMPL & am ag ufd &e 3itae 2500 km aadr ¥ aft Siorer
& F.62/- Ufd ofiex & A Ui &% Siotel @ud &1 @ fraar aene

The mileage of the vehicle is 10 KMPL and vehicle runs an average of 2500 km per month. If the price
of the diesel is Rs 62/-, the cost of diesel consumed per month is

a. Rs, 11500/-

b. Rs. 12500/-

C. Rs.15500/-

d. Rs.16500/-

54. 40cm @ 22cm TR Aol & Goll Ad B Teh dec §RT Tolly off I& &1 IR el A 880 RPM
M & GH T & al B & gH dr aifa Reaar gron?

Two pulleys A & B of diameter 40 cm and 22 cm are driven by a belt, if pulley A is rotating at a speed
of 880 RPM, then how much is the speed of rotation of pulley B?

a. 1600 RPM
b. 1200 RPM
C. 1400 RPM
d. 1800 RPM

55. Teh Jiietaargel tharedl 3 Ufd 1% 480 At T 3cUea @1 ¥ 3M3eYe 15% T W

ufa #AE Scurea Redam geme

An automobile factory produces 480 vehicles per month. If the output is to be increased by 15%, what
should be its production per month?

a. 500

b. 552

c. 580

d. 680

56. 3{TUel 200cm X 100cm T T SN3TS MNe & a1 & 3Ty 388 & 20 X 12cm &
IGHSTTHR & ThS HIcal &1 IR Rhday cons Brelar qen AW % feaar gome

You are given Gl sheet 200cm X 100cm. You have to cut rectangular pieces of 20 X 12 cm. How
many pieces you will get and what will be the % balance?

a. 82Pieces&0.5%

b. 83 Pieces & 0.4%

C. 84 Pieces & 0.3%

d. 85Pieces&0.2%

57. AT E&TAT Y HY TRART wd ©? Mechanical Efficiency is defined as
. BHP/FHP
BHP/IHP
IHP/BHP

3 H ¥ P %7 None of the above

o ooy
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58. Teh YaTield sfoted &, TTed & ad 77 REar dlaar geme?
In an operating engine, the hottest part of the piston is the
a. ¥ Head
b. a1 3@ Ring grooves
c. ¥T@he Skirt
d. e I8 Pin bosses

59. UU T & T S HAd gV WA IR 75 o i Orely o7 aRareled cr &,
HE &7

The pump part that rotates and causes water circulation between the radiator and engine is called
a. % Fan
b. «IUTH Bypass
c. SFUelX Impeller
d. s3I Housing

60. farfdie wd fhc & BIS Uomell & 31AR, ey & 18 I3 &d & o fha uepr aeifar

ST 87
As per the BIS system of limits and fits, there are 18 grades of tolerances represented by
a. IT01,IT1.....to IT16
IT1, IT2......t0 IT18
ITO, ITl......t0:0T17
. IT01, ITO,ITL......to IT16

61. Foic rEd o= @T-IT %? Mallet is made of
. o8 Lead
. Uidd Brass

. @ dheT Hard Wood
hIEC ATILA Cast lron

apo

oo oo

62. AR AT { ATAX I FAT AT ST 8?2 Wire gauge is a measurement of a wire’s
. ®oRdl Hardness

. dd< R Tensile strength

<qr{ Diameter

. 3T Brittleness

63. foisy oy & T © Cylinder head accommodates .......c.cccoeueeunee.
dTed T 3ic:879a Valves & Injectors

$hepemFe Crankshaft

Rreist es=X Cylinder liners

Ireih B3 Connecting rods

0 o0 oo

oo oo

64. e U9 frea & fFET SAsdr §2 Piston pin connects pistonand ..............
sl B8 Connecting rod

$HHAAFE Camshaft

thepeFe Crank shaft

died Valve

oo oo
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65. ASTSIT calel WX HTATTIT: HlAdT §ig T 39T Har SATar 872
Which one of the following bond is mast commonly used on grinding wheels?
a. fafewss Vitrified
b. ¥&X Rubber
c. & Shellac
d. Tafeehe Silicate

66. T&UT WIS T IYATIT &gl aIaT 87 A rough file is used
a. fafAa S 9 on irregular jobs
b. U & TS & € & fAT To reduce the metal rapidly
c. oal 9 On wood
d. I FAY WGl 3UY & Bl @l If smooth file is not available

67. A RT 1T BT ¥ 33 1 IR A wgaC]

Identify the weld defect in the figure shown below

El ;@ Z _;;j

&b Cracks

3s3He Undercut

FlIT ALY Slag inclusions
TXYUAT Porosity

oo ool

68. 1000kg GIHATA dTell X &I d9T 1m/sec &, AT T Foil [ehedell BIET7?

Kinetic energy of car mass 1000 kg moving with 1 m/sec velocity is
a. 1000 Joules
b. 500 Joules
c. 1loule
d. 500 Kgm/sec

69. TCTATETE 83 ofT & 5T YR & Wrade &1 39A9T &iar &7
The type of reflector used for automobile head lamp is
a. Waodr Parabolic
b. ek Spherical
c. faazaerar Hyperbolic
d. &rgedra Elliptical

70. 3iferAIReT arceldelt & e geliaes & 3u2er grar g7
Which refrigerant is used in automotive air-conditioning?
a. AT Ammonia
b. @& SAIFAES Carbon dioxide
c. %3 Freon
d. T Brine

TB7-A| 11



71. 3MSE ST & T TAET WU 9erd Hiear g2
The most common base material for making IC’s is

SHATH Germanium

a.

b. faferera Silicon
c. @seT Carbon
d. Afead Gallium

72. TAd I GINOT & FAT o1 &7  Benefit of Continuously Variable Transmission(CVT) is

a. e e gl gid No “Shift shocks”

b. Sga¥ SUsT g&far Ud caiuT Better Fuel efficiency & acceleration
c. 3cHael 9T 9gal f@IauT  Better control over emissions

d. 39dd @l All the above

73. %% H E YN F1 ST TFHel &7 3T gidr g7?
The type of rear axle used on trucks is
a. 3r-Tol Semi-floating
b. 9o T Fully floating
c. d7 =S T Three-quarter floating
d. 394&d # & HS TH Any one of the above

74. FR F ufeT BT W Feea 81 & S 9R # §ERT &d ¢ difth T3F & FCHh oo,
ZarT Jaf¥a v o ah|

The car wheels are suspended on springs that support the weight, so that the road shocks are
absorbed by

a. 9fgT Wheels

. §ifeher wotrelr Braking System
%he T S1ar Frame & Body

. T&9eT Springs

75. TSR GaRT TR EeT ThT AT &1 Geshall M & deell S &2
Rotary motion of the steering wheel is converted to a reciprocating motion by the
a. ¢ IS Track rod
b. ¢ 3T Track arm
c. Tcd UFHd Stub axle
d. TEINIT SIFT Steering box

76. UEI-Th3 3UHIUT gl ST S 87
Most anti-skid devices are employed on

a. TUoe Ufigv 9T Rare wheels

. 3791 9fgu 9X Front wheels
AregfAe 8% W Secondary brakes

. aifdhaT s WX Parking brakes

77. 3RS H, THEEST S I THTAd HROT AT Bl 87
In an automobile, the probable cause for ineffective brakes could be
a. wmsfAer & IWMH Grease in lining
b. 3T ASAT ST &UT Excessive lining wear
TB7-A| 12
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€
d.

He U 3H Drum scored
IWEd H I &ﬁ'r;f.’ oY Any of the above

78. dled ATl fhds edRT Ydifeld &dl 7 Valve mechanism is operated by

a.
b.
c:
d.

shehere Crankshaft
CIsfAI I Timing gear
Fellcerel Flywheel
e Camshaft

79. FEREI H I FI 39AET dd gdl & o9 Siotel

The choke in the carburettor is generally used when the engine is

a.
b. 3Ta J1fd W &ar & Running at high speed

c.

d. 33T gl W & A & T To be cold started

T &I & Idling

X caoT & fIT To be suddenly accelerated

so.ﬂa‘ﬁaﬁaﬂwmmmqﬁﬁ?ﬁﬁm%?

The throttle valve in the carburettor controls the supply of

a.
b.
c.
d.

shae gdT Air only

shael 3%« Fuel Only

gar-su AT Air-fuel mixture
3T # ¥ @5 Aal None of these
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